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Topic:- Child Development & Pedagogy (CDP)

1) A layperson’s understanding of Reinforcement and Punishment are different from those used in

./ E I AW P da R U F AN STR YUF e Wl B ygad gt 2l
1. Operant conditioning / ToRaT T FIUA (3NTUIC HETATA)

2. Sign learning / Tehdt 31T (TTST SAfetan)

3. Classical conditioning / 3] Tord I ThAT AFALU (FelTTHeh el heIRATAdN)

4. Social learning / IS IFTH (Frrd @)

Correct Answer :-
« Operant conditioning / fopaT aqd 3-TF_[€I9-'I?-T (3NTa¥T HINRITea)

2) Separation anxiety is considerably reduced in the child by the age of: / T &I g 3y CUE:| qgviﬁ
TR TG SBdT HIB! HH gl Tl &

1. 1-2 years / 1-299
2.2-3 years / 2-3 a4
3.3-4 years / 3-4aY

4, 4-5 years / 4-5 a4

Correct Answer :-

o 3-4years / 3-4aY

3) What do IQ test measure? / Tg'@ ?I'[?J(GI'F.{W) o T AT SATeT %?

1. General intelligence / HAET FRGHT

2. Specific abilities known as S factor / TH &R & dR W A fafrw Jegar
3. Logical and linguistic intelligence / dTfchen 3R HTWTS gigHar

4. Emotional intelligence / HTdellcHd FiGH

Correct Answer :-



+ General intelligence / AT gi&HAT

4) Which of the following is not a personality projective method of measurement? / fFafafRaa # @
PIF-W U B v safawra vardt faftr 7t @2

1. Inkblot Test / WTEU?T&"I’UT

2. Sentence Completion Test / WWW&TUT

3. Thematic Apperception Test / Tau EELFJIEF[ TY&ToT
4, Physical Test / QIR TTeToT

Correct Answer :-

« Physical Test / QMRITYe TI&T0T

5) Which of the following is NOT a learning theory? / fFafafea & @ s=-a1 TS AT o1 Rigia T8t
?

1. Conceptualism / GUcIITATG

2. Behaviorism / <IdeRdIG

3. Cognitivism / GATATcHBATG

4. Constructivism / TdeTcHD TG
Correct Answer :-

+ Conceptualism / GUcIITIG,

6) Students should be engaged in the process of learning as a that relates subject matter
to problem-solving skills. / BT & RATH $Y ufspar & ¥ U # T g1 I1eT ) JHw1-
Fag™ & SIYd & faug A Jafia 2

1. communication experience/ AR T AT
2. contextualized experience/ UTHTITR AJAd
3. task experience/ Gop) AT

4. collaboration experience/ TEANIT T AJHT

Correct Answer :-

« contextualized experience/ UTHTIDH AT



7) Choose the theorist whose theory talks about teaching machines and a programmed learning

%ystem./WWWWﬁWﬁWﬁT&MW@WWWW%W%ﬁW
|

1. W. Kohler/ga_oi.aﬁ?ﬂ

2. B. F. Skinner /&).T% f&hax

3. Pavlov / OTdelld
4. E. Erikson /3 .U

Correct Answer :-

« B.F. Skinner /dT.U% {&he

8) Creativity characteristics is: / o-=Id fa=warg g:
1. Photographic memory / BICHhd Fﬂ%{

2. Divergent thinking / &= @

3. Introvert / 3-1?5@'@[
4. Fast learning / ctg 31Ta1a

Correct Answer :-
« Divergent thinking / f¥e @

9) The inclusion of children with disabilities in classroom is now a worldwide trend. /

oy i gw @ it ST 9 T g yae 2|
1. Special / Tafre

2. Mobile school / 3Tfaeftel faamerar &

3. Regular / fafaa

4. Flip / TFelq

Correct Answer :-

« Regular/faf@a
10) The development stage in Erik Erikson’s theory which occurs from 1 to 3 years is /
e RFaT & Rga A e Ru et 1 A3 g8 do gar g a8 gl

1. Identify vs. identify diffusion / U8 &-TH YR &1 UgdM

2. Autonomy vs. shame / TATIAT TATH QU



3. Trust vs. mistrust / fTa%8mT dema 3rfaama

4, Initiative vs. guilt / U&el IS ORI 1Y

Correct Answer :-
« Autonomy vs. shame / TITIAAT TATH LA

11) According to the Psychosexual Developmental Theory, the basic instincts are found in the ____.
/ Tafe faem Risia ¥ ouR, ga g ® urs STt 7

1. Unconscious / 37del

2. Conscious / It

3. Subconscious / 3adde

4. Superconscious / WA dde

Correct Answer :-

« Unconscious / 3ada

12) Cognitive development does not study

1. Problem solving / §7&dT fAaror
2. Memory / H{ﬁ

3. Language / HTHT

4. Relationships / et

Correct Answer :-

» Relationships / freat

13) The importance of play in education was mentioned by . e H T F
HAged & @R Jeaf@d fFar arar ail

1. John Locke/ Sl dlich
2. Aristotle / 3RE]

3. Plato / Toler

4. Socrates / gbId

Correct Answer :-



o Aristotle / 3&g

14) Affective domain of learning is characterized by aspect of our behaviour. / 3T

F T TaT AR THGER & ggd ganT aftta gar gl
1.1earning/3-Tf‘a'c|TcFr

2. Feeling / 31337f
3. Thinking / [ &
4. Doing / & Gro|

Correct Answer :-

+ Feeling / 3-17:[3{%

15) ICT can increase in inclusive education. / AT fRAraw 7 A L}
Tl g

1. all of these / IRV I

2. Access only / hael Ugﬂ

3. Equity only / hdel HHTT
4. Efficiency only / hdel G&TT

Correct Answer :-

o all of these / ST Tt

16) What is the term used to denote the organized bodies of information that affect how we store,

interpret and process new information? / ¥eiT F Hafod AR 1 Afdse Fa & v fFa asg
F 394NT T ST § St §AR 7S A F warg, A AR afkAr @ wenfaa wwar 82

1. Seriation / ShAdGAT

2. Stressors / delldh

3. Schemas / U@ (¥FHTaAT)
4. Semantics / QTeGT

Correct Answer :-

e Schemas / ®R@T (FHIT)



17) What is the term that is used to denote the process of retrieving a specific item of information from
memory? / fF® e FT 39ANT FTHIA F Fuar & T @AY gEH F God FIA Y qfHAT By
fAwRa &= & v fFar s 82

1. Recognition / aR=ITe

2. Retrieval cue / g?—m‘rﬁ Tohd
3. Recall / Ycamr&EdAoT

4. Restructuring / GHI&—
Correct Answer :-

» Recall / IcIrEAT0T

18) What is a characteristic of a child suffering from ADHD? / vdiva®l & dif3q s=ad &1 Fa70r F41 g
87

1. Motor problems / U FHAEITT

2. Speech deficits / @Tela &l FHEAT

3. Intellectual disability / @ifge Taeeorar

4, Inattention / AdUTd

Correct Answer :-
e Inattention / AdYTd

19) What kind of personality trait is most commonly associated with being outgoing? /

Irseangy () & fhe ot &1 cafFded o7 Wil & § FATI: 3T g3 82

1. Extraversion / Elﬁ-'oi@?ﬂ
2. Introversion / Hﬂ%@?ﬂ

3. Depression / 33T

4, Neuroticism / Frearadr

Correct Answer :-

 Extraversion / Eﬁ?ﬂi’@?ﬂ

20) What is 16PF (Raymond Cattell’s)? / (353 Feo &1 )16PF &1 87

1. 16 Perfectionism factors / 16 QUIATATG HReb



2. 16 Personality failures / 16 <Ifhdldl G
3. 16 Personality factors / 16 <ITthaldl HReh

4. 16 Personal facts / 16 Safaad 9

Correct Answer :-

e 16 Personality factors / 16 <Ifhaldl HRE

21) To develop critical thinking among children, the teacher should give the students a lot of : / ¥4 Y &

AgcaqUl A Refa & & e, e A oEt : s@f@w e afgo
1. Lectures/ TATEATT

2. Assignments / U&d P (3ATSAIHC)

3. Notes / fecaforan

4. Impositions / 3TfARIgoOT

Correct Answer :-

« Assignments / Ugd ®1 (3ATSAAC)

22) Sternberg’s components of intelligence did not include : / ¥eaiast F geftr & geal & T wfaa
el om:

1. Analytical intelligence / fa8uUTcA® gig
2. Fluid intelligence / gd 3THIAAT heg (Ffg Scioloid)
3. Creative intelligence / TIACHD g

4. Practical intelligence / <ATAEING g
Correct Answer :-

« Fluid intelligence / &d TIAT dheg (Fe[g Sciolord)

23) How can a teacher practice intrinsic motivation in the classroom? / T& Y&t &t # mafis
WU & FFAT HA HI THaT 82

1. Set class policies and rules to control the class discipline. / & & JJRATHA o g & & for
et A 3R AIw [Auia w|

2. Set high goals and make them practice to achieve high grades./ 3Td o1& AUIRT b 3R 3¢ 3T
IS UTH & b T 3T T




3. Allow students to choose their tasks and work by themselves. / BTAl @I 370 FrET B IS P 3R
TIA: BIH Bel D AT Gl

4. Allow students to make choices and hold them accountable for the consequences of their choices. / STAT @l

el fdmed g 3R 3¢ 3adT gdg & aRonal & fow Jaecs @S & AgAfa Sl

Correct Answer :-

+ Allow students to make choices and hold them accountable for the consequences of their choices. / STAT T

HeIET fahed g 3R 3¢ 3l TdG & URUTAT & v Sarede @a $r 3gaAfd St

24) Through which mental activity is available information transformed to conclusion. / &8 AERAF
AR & ATeaw ¥ Uy AEFER F AFY F FUEEaRa frar amar §

1. Thinking / R&a=
2. Problem solving / HAEIT HHATUTA
3. Reasoning / d&

4. Motivation / UIOT

Correct Answer :-
 Reasoning / d&

25) Which part of the memory is the clothes you wore on your wedding day stored? / Fﬂﬁ' HT HleT-aAT
HIET 3T9F @Rl A F R wga v F93 Hr Ffa A FALT FIaT 82

1. Autobiographical memory / JTcHBATCHED FHA
2. Declarative memory / EINUTTcHS FHIA
3. Procedural memory / UfhaicAs THfd

4. Participative memory / HeHTIN A

Correct Answer :-

+ Autobiographical memory / TcHBUTHED THIA

26) Which of the following hinders learning the most? / fA&faf@d & & Far =@ 3™+ yforT &
qTET ST 87

1. Competition/ FfaTardT
2. Noise/ IR

3. Boredom/ 3&THT



4. Fatigue/ YTl

Correct Answer :-

« Boredom/ 3Tl

27) Which of the following is a secondary sexual characteristic that develops in females during puberty?

| AFafaf@a & & wia-a@t ve alor gl Rdwar & N e F Sl Afant § ReRa o 82
1. Development of the ovaries / 3/BIRIT &1 T

2. Menarche / TEigd=

3. Growth of body hair / R & dTell BT T&am

4. Deepening of voice / HTaTsl &l IR BIAT

Correct Answer :-

o Growth of body hair / SRR & dTall HI TEAT

28) Which of the following is a parenting style characterized by low warmth and high control? / @& )
¥ Fla-d@ gre-gyor df wfeew 3cEE AR e FaFer i faedwar 87

1. Permissive parenting style / 3TcJ<ITcHD qrel-ar9oT Qell
2. Authoritative parenting style / 3MARRG UTerT-uIgor el
3. Authoritarian parenting style / 3TTQBRATG UTelel-TIWoT el

4. Aggressive parenting style / 3TShIHeh UTelel-GINOT Qell

Correct Answer :-

o Authoritarian parenting style / 3fUGRATG! UTell-UIyoT QAell

29) The famous physiologist who introduced the concept of reinforcement and was the first to apply

psychological principles to the area of learning. / 3§ YfRigy RR-fFar Rt (o) S
Yo (WRRIAT) $T FqURON yEaad it HR AR F o # Adeiae Ryl # ey F ae
ga oafad o:

1. Edward Thorndike / TSds UTisisd
2. Wolfgang Kohler / alehalaT dhlgek
3. Jean Piaget / S foara

4, Ian Pavlov / gaid Urddlid

Correct Answer :-



« Edward Thorndike / TSdasS UIssH

30) Which of the following is NOT a form of misconception? / @Fafaf@a & & a1 rad aron gt &2

1. Non-scientific beliefs / 3Td<{aep AT

2. Cognitive conflicted ideas / HTellcHA® TRFAR el foar
3. Preconceived notions / C@h’lﬁ' BEE

4. Vernacular misconceptions / HTcJHATIT rear g@'

Correct Answer :-

« Cognitive conflicted ideas / T=ITATcH® WIW AT faar

Topic:- General English(L1GE)

1) Fill in the blank with the correct option in the given sentence:
The memor-- of child-- days are amazing!

1. --ren ... --ish

2. --ial ... --hoods

3. --ies ... --hood

4, --y ... --ren

Correct Answer :-

e --ies ... --hood

2) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the
toothbrush have been in existence since 3000 BC. Ancient civilizations used a "chew stick," which
was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The bristle
toothbrush, similar to the type used today, was not invented until 1498 in China. The bristles were
actually the stiff, coarse hairs taken from the back of a hog's neck and attached to handles made of
bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours. The
first nylon toothbrush was called Doctor West's Miracle Toothbrush. Later, Americans were
influenced by the disciplined hygiene habits of soldiers from World War I1. They became increasingly
concerned with the practice of good oral hygiene and quickly adopted the nylon toothbrush.



Why were early toothbrushes most likely called "chew sticks"?
1. Because people chewed on them to help clean the teeth

2. Because people chewed them after using them

3. Because they tasted better when chewed

4. Because they were chewed on by animals

Correct Answer :-

» Because people chewed on them to help clean the teeth

3) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the
toothbrush have been in existence since 3000 BC. Ancient civilizations used a "chew stick," which
was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The bristle
toothbrush, similar to the type used today, was not invented until 1498 in China. The bristles were
actually the stiff, coarse hairs taken from the back of a hog's neck and attached to handles made of
bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours. The
first nylon toothbrush was called Doctor West's Miracle Toothbrush. Later, Americans were
influenced by the disciplined hygiene habits of soldiers from World War I1. They became increasingly
concerned with the practice of good oral hygiene and quickly adopted the nylon toothbrush.

Which statement best explains the author's view of early forms of the toothbrush?
1. They weren't very hygienic

2. They helped keep teeth clean

3. They cost little to make

4. They were extremely innovative

Correct Answer :-

o They weren't very hygienic

4) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the
toothbrush have been in existence since 3000 BC. Ancient civilizations used a "chew stick," which



was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The bristle
toothbrush, similar to the type used today, was not invented until 1498 in China. The bristles were
actually the stiff, coarse hairs taken from the back of a hog's neck and attached to handles made of
bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours. The
first nylon toothbrush was called Doctor West's Miracle Toothbrush. Later, Americans were
influenced by the disciplined hygiene habits of soldiers from World War I1. They became increasingly
concerned with the practice of good oral hygiene and quickly adopted the nylon toothbrush.

What can you infer about the nylon toothbrush?
1. It originally used animal hairs.

2. It worked better than any toothbrush before it.

3. It was very popular when it was invented.

4. It was cheaper than previous toothbrushes.

Correct Answer :-

» [t worked better than any toothbrush before it.

5) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the
toothbrush have been in existence since 3000 BC. Ancient civilizations used a "chew stick," which
was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The bristle
toothbrush, similar to the type used today, was not invented until 1498 in China. The bristles were
actually the stiff, coarse hairs taken from the back of a hog's neck and attached to handles made of
bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours. The
first nylon toothbrush was called Doctor West's Miracle Toothbrush. Later, Americans were
influenced by the disciplined hygiene habits of soldiers from World War II1. They became increasingly
concerned with the practice of good oral hygiene and quickly adopted the nylon toothbrush.

Based on the passage, what is the meaning of the word bristle?
1. An animal hair used to make a brush

2. A part of a hog

3. The stem of a toothbrush

4. A special toothbrush

Correct Answer :-



e An animal hair used to make a brush

6) Fill in the blank with the correct option in the given sentence:

Hundred grams is also known as --gram.

1. hecto--
2. deca--
3. centi --

4. cento --

Correct Answer :-

« hecto--

7) Choose the appropriate synonym for the highlighted word in the given sentence.

The rich should not despise the poor.
1. Find fault

2. Punish

3. Criticize

4. Loathe

Correct Answer :-

e Loathe

8) Which of the following options best combines the given sentences?

She is the girl. She is intelligent. She is hard working.

1. She is the girl whose not only intelligent but also hard working.
2. She is the girl who's intelligent but also hard working.

3. She is the girl who is not only intelligent but also hard working.

4. She is the intelligent and hard worked girl.



Correct Answer :-
« She is the girl who is not only intelligent but also hard working.

9) Choose appropriate articles for the given sentence:

blowout is oil well accident.
1. No article required ... No article required
2. No article required ... No article required

3.The ...a

4. A..an

Correct Answer :-

10) Choose the appropriate option that rewrites the given sentence in its passive voice.
We have finished approximately half of the report.

1. Half of the report approximately have been finished by us.

2. Approximately, half of the report has been finished (by us).

3. Approximately, half of the reports have been finished.

4. Approximately, we have finished half of the report.

Correct Answer :-
« Approximately, half of the report has been finished (by us).

11) Choose the appropriate option to convert the given sentence from direct speech to indirect
speech.

He said, "I will finish this work tomorrow.”

1. He told that he would finish that work tomorrow.

2. He was confident of finishing that work that day.

3. He said that he would finish that work the following day.

4. He expressed his willingness to finish the work the next day.



Correct Answer :-

» He said that he would finish that work the following day.

12) Choose the appropriate option to complete the given sentence:

I didn't have trouble getting the passport.
1. several

2. any

3.1no

4. much

Correct Answer :-

13) Choose the appropriate tenses to fill in the blanks in the given sentence :

I___ notable to enjoy my trip to the hill stationasI_____ feverand ____ to take rest.
1. am, have, was

2. will, have, are

3. was, had, had

4. did, have, were

Correct Answer :-

« was, had, had

14) Choose the appropriate antonym for the highlighted word in the given sentence.

I have to hide my head in shame and admit that I lied to my best friend.

1. Conceal
2. Reveal

3. Outburst



4. Camouflage

Correct Answer :-

o Reveal

15) Choose the appropriate conjunction for the given sentence.

I do not know he will come home today not.

1. both....and

2. whether.... or

3. neither.... nor

4. Not only.... but also

Correct Answer :-

o whether.... or

16) Choose an appropriate modal for the given sentence:

When I was much younger, I walk long distances.

1. could
2. will
3. may

4. can

Correct Answer :-

e could

17) Choose the option that best explains the highlighted expression:
The public opinion was that some insiders had a hand in the bank robbery.

1. to have a share
2. had finger prints

3. knew the outsiders



4, to be involved

Correct Answer :-
e to beinvolved

18) Read the sentence carefully and choose the option that has an error in it:

The prisoner do not like to be punished.
1. do not like

2. to be punished.

3. The prisoner

4. No error

Correct Answer :-
« do not like

19) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real games
under their belt and that means that the Inside the NBA team of Charles Barkley, Shaquille O'Neal, Kenny Smith and
Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious moments from their
studio in Atlanta. With that team back in full swing, NBA fans were treated to one of their show's weekly traditions
following the matchup between the Milwaukee Bucks and the Golden State Warriors on Thursday night as Shaquille
O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and it was filled with plenty of well-
known names, as well as some lesser-heralded players, making slightly less than spectacular plays.

What is Charles Barkley, Shaquille O'Neal, Kenny Smith and Ernie Johnson back at doing this season?
1. Following the match between Milwaukee Bucks and the Golden State Warriors

2. Treating their fans to their studio in Atlanta

3. Backing NBA league’s 30 teams during the 2018-19 season

4. Providing basketball fans with hilarious moments

Correct Answer :-

» Providing basketball fans with hilarious moments



20) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real games
under their belt and that means that the Inside the NBA team of Charles Barkley, Shaquille O'Neal, Kenny Smith and
Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious moments from their
studio in Atlanta. With that team back in full swing, NBA fans were treated to one of their show's weekly traditions
following the matchup between the Milwaukee Bucks and the Golden State Warriors on Thursday night as Shaquille
O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and it was filled with plenty of well-
known names, as well as some lesser-heralded players, making slightly less than spectacular plays.

What is the name of the TV show based on basketball mentioned in the passage?
1. Atlanta

2. Milwaukee Bucks

3. NBA regular season

4, Inside the NBA

Correct Answer :-

o Inside the NBA

21) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real games
under their belt and that means that the Inside the NBA team of Charles Barkley, Shaquille O'Neal, Kenny Smith and
Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious moments from their
studio in Atlanta. With that team back in full swing, NBA fans were treated to one of their show's weekly traditions
following the matchup between the Milwaukee Bucks and the Golden State Warriors on Thursday night as Shaquille
O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and it was filled with plenty of well-
known names, as well as some lesser-heralded players, making slightly less than spectacular plays.

What does the phrase “season is off and running” imply?
1. The NBA basketball season is postponed

2. The NBA basketball season is due next year

3. The NBA basketball season is cancelled

4. The NBA basketball season is ongoing

Correct Answer :-

o The NBA basketball season is ongoing



22) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real games
under their belt and that means that the Inside the NBA team of Charles Barkley, Shaquille O'Neal, Kenny Smith and
Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious moments from their
studio in Atlanta. With that team back in full swing, NBA fans were treated to one of their show's weekly traditions
following the matchup between the Milwaukee Bucks and the Golden State Warriors on Thursday night as Shaquille
O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and it was filled with plenty of well-
known names, as well as some lesser-heralded players, making slightly less than spectacular plays.

According the passage, the studio is located in
1. Atlanta

2. Golden State

3. China

4. Japan

Correct Answer :-

o Atlanta

23) Choose the right tag:

You just can’t get on with your friends, ?

1. could you

2. couldn’t you
3. canyou

4. do you

Correct Answer :-

e canyou

24) Choose the correct option to fill in the blank in the given sentence:

Our city will have university soon.



1. the
2. an

3. no article

4. a

Correct Answer :-

25) Choose the appropriate tense to fill in the blank in the given sentence:

Have you heard the news on flood?

Yes, I have. I it just 10 minutes back.

1. will hear
2. heard

3. am hearing
4. has heard

Correct Answer :-

e heard

26) Choose the appropriate preposition for the given sentence:

A simple bed felt luxurious _____ a weeklong trip.
1. after

2. with

3. for

4. on

Correct Answer :-

o after



27) Choose the most suitable pronoun for the given sentence:

Ms. Sandra decides _____ students’ grades according to ____ test score.
1. his ... her

2. their ... her

3. her ... her

4. her ... their

Correct Answer :-

e her ... their

28) Fill in the blank to complete the given sentence:

When you arrive at the place you by our men. They will take you to the exact place.
1. will meet

2. are met

3. will be met

4. will have met

Correct Answer :-

o will be met

29) Choose the option that substitutes the given phrase appropriately.
Long and complicated series of events

1. Saga

2. Historical

3. Poignancy

4. Legend

Correct Answer :-



30) Choose the right tag:

He didn't recognize me, ?
1.doesn't he

2.isn't he

3.isn't it

4. did he

Correct Answer :-

. did he

Topic:- General Hindi(L2GH)

1) 30 GHRI, 4R O, 9 GRelt & ATt
T AR THIG, 791 6 S8 |
FE-Taul & @R o), Arg Bt Agd i,
Tt Feuer, T A9 Y 79 fore w=ma-
UG B g feandt |

TS DN g4 a1 B, WA THaT 79T 3,
Tt Ny & g ug X Sita B sgATa-
IS FR AT |

Y Id & forg sga &t arY 1 =re-

T NS ST | AT AR S |

ST UL B UgHR -1 IS T UY HT 36 qa13d:
T - -1 T IR S BT A 34 72
1. U EATAT BN

2. HITATA Pl YHeod DI

3. AT T

4. @9 g gt




Correct Answer :-

2) 3 FERT, Rl 3T+, 79 et & @
T AR THG, 791 SHH S8 |
JE-TGl F TR olil, Aa Bt Agd goi,
TR e, T4t Aa1 B1 7w e wRma-
THY Y M feandt |

TP HI g0 ST HI, FRANT JHar 73T o),
Tt Ny F g ug= R Sia B srgETa-
el IER A |

Y Id & forg sga &t arY 1 =ra-

AT AFNS ST | AT AR GG |
ST Ui B UgH 19 TR T UY BT IR JaIsd:
W= - frd U 1 a1 Bfd Bg 8T 82
1.ger

2. ITaT

3. AT

4, Fgdd

Correct Answer :-

3) o FART, TRAY 3=, 7 el & o
AT U FHTC, 4T ST S=TQar |
FE-FaoAl F T Aoie, ATT H Agerd i,
Tt Feuat, Tt Aqe f FH AT AATA-
AT F R R |

TF FGT FH SAeaT Y, HET GAGT AAGT A,
a4 ol & fAT gger X g A FHA-



Ao AER AAT |

- T AN MY, YL W S,

qY I % AT sga & ani A 9ma-

AT e qATCAr | AT WER SEIC |

39T TSI N YGHT AT T AT YT FT 3o TS

Y- STl B Uh & H13 HA Hier FT 3TamgT T @ 87
1. BT 3R well

2.7¢ 3R FAJT

3. AISTT 3R HISART

4. A IR FAAT

Correct Answer :-

o AT IR FAAT

4) U TART, R HTAl, §H AT & ATl
AT U SHTCE, 4T SHIT S=ear |
FE-FaoAll & T Aorel, AT Y Agead qa,
Tt Feuart, @t Aqe f FH AT AATA-
AT Y [E @ |

TF FT §H FoIdl $1, WA FHAT AAGT F,
Tt gl & T uge X aer A STIATA-
U AR FATCS |

gy qd & faT sga & art #r Ara-

AT AN AT | AT AR FHIC |
39T UCIRT F YGHT A T AT YT FT I TS
wee- P IHR §AT N TE @i

1. TATA ST

2. SIHATIT UgeThl

3. AT TARR
4, THRR HAATHL



Correct Answer :-

o HRATST dehl

5) & §ART, €l 39eAl, g el & ol

AT U SHTCE, 4T SHIT S=IT0ar |

FE-FaeAll & T Aorel, AT Y AgeAd qE,

Tt Feqer, Tt A Hr g7 v FTATE-

AT F TF @ |

TF FOT §H FoIdl $1, WA FHAT AAGT F,

Tt g & T wger & Sfaer Hr FIATA-

U TNER FATET |

gy qd & fAT sga & art #r Ara-

AT AN AT | AT AR FHIC |

39T UCHNRT Y YGHT A T AT YT FT I TS
weeT- HY Siaed A s9Ae FaF [T 95w & e w7 @ 872
1. SledT

2. Fqdf

3.3 uiy

4. A

Correct Answer :-

. T35 Ol

6) o FAWI, tRAY 3T, 7 &l & o
AT U FHTC, 4T ST S=TQar |
gU-Fael F TR AN, AT H AgAa @,
Tt Feuat, Tt Aqe f FH AT AATA-
AT F W @ |

TF FGT FH SAeaT Y, HET GAGT AAGT A,
Tt g & T uger wT g Hr FIATA-



Ut FNER AATE |

what Tt 3aT T, G He aETe,

qY I % AT sga & ani A 9ma-

AT SN FATEHN | FAT AR FEIC |

39T TSI N YGHT AT T AT YT FT 3o TS
yed- ‘dgd &9 ARl Y T F FfA FT FAT AT 82
1. T & ugfa dgd &l

2. {TAT AT FEel Gl

3. SYIGEYAT gl gal

4, el BT T deol |

Correct Answer :-

o 3UAT HTT dcol SaT|

7) U FARI, R 3T, 7 el & o

AT U SHTCE, 4T SHIT S=ear |

FE-F F FR oA, AT B AgAd @,

Tt Feger, Tt A Hr g7 v FTATE-

AT F TF @ |

TF FE §H FoIdl $1, WA FHAT AAGT F,

Tt g & T wger wT Sfaer Hr FIATA-

U AR FATCS |

gy qd & fAT sga & art #r Ara-

AT AN AT | AT AR FHIC |

39T UCIRT F YGHT A T AT YT FT I TS
wed- 3 HfaaT A ¥ FH AT 9w F 3mawT = @ 2
1. 3H B & faw

2.3 GURA & forw

3. ¥R fHe & fow

4. gRad= & faw



Correct Answer :-

.« gRadd & fou

8) 3 FARI, TRt HU=Al, g At & oA

AT U SHTCE, 4T SHIT S=IT0ar |

YE-FI & F@ A9, AT A AgeAd T,

Tt Feqer, Tt A Hr g7 v FTATE-

AT F TF @ |

TF FT §H FoIdl $1, WA FHAT AAGT F,

Tt gl & T uger X aer A STHATA-

U AR FATES |

gy qd & fAT sga & art #r Ara-

AT AN AT | AT AR FHIC |

39T UCHNRT Y YGHT A T AT YT FT I TS
wee- 0 Ffaar & v e # F sla-w1 ofids 3R @em?
1. arY & =rer

2. 5H OXT & ool

3. el et gaah

4. ST AT IXHTTIN

Correct Answer :-

o TH WA & Tl

9) 29 §ARI, &Rl Y=Y, g 4TAY F ol
AT U FHTC, 4T ST S=TQar |
FE-FaoAl F T Aoie, ATT H Agerd i,
Tt Feuat, Tt Aqe f FH AT AATA-
AT F R R |

TF FGT FH SAeaT Y, HET GAGT AAGT A,
a4 ol & fAT gger X g A FHA-



Ut FNER AATE |

at-at Faet saR R, IS AT aETER,

qY I % AT sga & ani A 9ma-

AT SN FATEHN | FAT AR FEIC |

39T TSI N YGHT AT T AT YT FT 3o TS
Ye- FIST WA SAWN ¥ FAT AT 872

1. 95 ART g faverm|

2.6 & A HLA|

3. Ud-wicer il # wad 3T gl

4. Gl & el gl

Correct Answer :-

. Tg-gfoeEt & waa 3 @9l

10) 3 FART, YA HTY=AT, §H Rl & Tl

AT U SHTCE, 4T SHIT S=ear |

FE-FTCAT F T A, A A Agerad T,

Tt Feuart, @t Aqe f FH AT AATA-

AT Y [E @ |

TF FE §H FoIdl $1, WA FHAT AAGT F,

Tt gl & T uge X aer A STIATA-

U AR FATCS |

gy qd & fAT sga & art #r Ara-

AT AN AT | AT AR FHIC |

39T UCIRT F YGHT A T AT YT FT I TS
YReA- TSI A T ‘SE FT I3 FAT e 87
1.ger

2. B

3. 9A

o g



Correct Answer :-

11) 29 §ART, el YT, g7 et & el
AT U SHTCE, 4T SHIT S=IT0ar |
FE-FTCAT F T A, A A Agerad T,
Tt Feuar, Tt Aqe f FH AT AATA-
AT Y [E @ |

TF FT §H FoIdl $1, WA FHAT AAGT F,
Tt gl & T uger X aer A STHATA-
U AR FATES |

gy qd & fAT sga & art #r Ara-

AT AN AT | AT AR FHIC |
39T UCHNRT Y YGHT A T AT YT FT I TS
WRA- IS & HTAR frad T A

1. gu 3R Fae=

2. T 3R §ER
3. 41T 3R g
4, AFST 3R el

Correct Answer :-

12) 2 §ARI, €l YT, g 4Tt & el
AT U FHTC, 4T ST S=TQar |
gU-Fael F TR AN, AT A AgAd @,
Tt Feuat, Tt Aqe f FH AT AATA-
AT F W @ |

TF FGT FH SAeaT Y, HET GAGT AAGT A,
a4 ol & fAT gger X g A FHA-



Ut FNER AATE |

at-at Faet saR R, IS AT aETER,

qY I % AT sga & ani A 9ma-

AT e qATCAr | AT WER SEIC |

39T TSI N YGHT AT T AT YT FT 3o TS

WA~ TCANN F HIAR 6 Hiaar # ‘w7l oy F7 ek Fw 82
1. a7 Gier

2. AT B

3. AT Hdaar

4. 0T 4

Correct Answer :-

o R O

13) 2 §ART, el YT, §A et & el

AT U SHTCE, 4T SHIT S=ear |

FE-FTCAT F T A, A A Agerad T,

Tt Feuart, @t Aqe f FH AT AATA-

AT Y [E @ |

TF FE §H FoIdl $1, WA FHAT AAGT F,

Tt gl & T uge X aer A STIATA-

U AR FATCS |

gy qd & fAT sga & art #r Ara-

AT AN AT | AT AR FHIC |

39T UCIRT F YGHT A T AT YT FT I TS
Y- YA 9EhIT H AT U 9§ FT FAT HY g 87
1.9

2. Ulelh

3. ar
4.9



Correct Answer :-

14) 2 §ARI, el YT, g4 et & el

AT U SHTCE, 4T SHIT S=IT0ar |

FE-FTCAT F T A, A A Agerad T,

Tt Feuar, Tt Aqe f FH AT AATA-

AT Y [E @ |

TF FT §H FoIdl $1, WA FHAT AAGT F,

Tt gl & T uger X aer A STHATA-

U AR FATES |

gy qd & fAT sga & art #r Ara-

AT AN AT | AT AR FHIC |

39T UCHNRT Y YGHT A T AT YT FT I TS
Wee- “FH U & AT Gfed # AT & 3T F4T 87
1. AT

2. ARG

3. UTelh

4. gdar

Correct Answer :-

15) 2 §ARI, €l AU, g7 4Tt & ol
AT U FHTC, 4T ST S=TQar |
FE-FaoAl F T Aoie, ATT H Agerd i,
Tt Feuat, Tt Aqe f FH AT AATA-
AT F W @ |

TF FGT FH SAeaT Y, HET GAGT AAGT A,
a4 ol & fAT gger X g A FHA-



U PR FaTCar |

at-at Faet saR R, IS AT aETER,

qY I % AT sga & ani A 9ma-

AT SN FATEHN | FAT AR FEIC |

39T TSI N YGHT AT T AT YT FT 3o TS
- #fa fFaS AT AAer s FT aEA FT @ 82

1. STIATST 3R ER

2. 99 3R T

3. @A Peuar 3R A A

4. I AR AR 41 g4

Correct Answer :-

o T Fouar 3R T I

16)EIT3|1T'#WG|’I§% TG, @ FT AT FA AT ¢1 T8 T F 91, ¢ W A & F I1g, g W &
TodT 8, 3 & 39 g aﬁmﬁa%lﬁﬂﬁﬁ&ﬁtmmﬁa’f@ﬁm#aﬁmmwm%l
sh'maﬁwmrmr;rﬁr ar o STq T« ST AT Wil ¢, O SR A AP Dt F1AFA0T 37 dH
mmlrﬁﬁwmmﬁmaﬁmmmﬁm%mm%waﬁa ag ot o
mﬁmaﬁaﬁtmaﬁmmmm%lwwma@mm%la@ﬁmmﬁ:
g Terar § @ hat el B qgaad 3RA A FAee A€ &, few @ew @ s @1 9 T Fanfad F
mwmm%wmmﬁﬁ—aﬁmmam%lm%&nﬁﬁtﬁg’ft—ﬁ%&m#
w‘r%m%mmwmmmwnmﬁm#wﬁwﬂm—mmha‘s’vrs'ﬁ
IO ST @ WTelt AT T @Y AT Wrell @Y, qF TR o A3V Fgad 8 o A o g ar geft . S aw)
arelt e &, aa:rm:r-zrai‘g’rm%lm#a&‘ama’raﬁmsﬁﬁmmﬂmé’rrgmlaﬁaﬁ
wﬁmaﬁam afew FO Ieleq @ I a9 IER JAY Fard gom, Fifs 7 F& a F& Fedl
mmmlm#mm%mm$WWMI

39T AGHIT P IGHT A S AT G FT 3o IdAT34:
- AEHA AWF ISR F AG@R FAT AT §7?
1. Fifh 385 a4 @ T
2. Fifh o@d A fAree &
3. P aToR # IATID JEGU Glgara Hr Afb AT B
4, TGP SHDPT AF 3619 &

Correct Answer :-

o FIfP IR H HATIID TEJU Wlgara Hr AR e Bl




an\%la's'an #Y T FH FAT ¢ 96 TT FT 91, ¢ W X 9% T I1g, g W & Terar
%3@ 3 ag A ft FAEr ¥ I #d @, 3R AT @reh @, W gEw F g F oI G T ¥ A9

sm g‘r mmwmlmm%aﬂmﬁmiﬁmmﬁmmwm
S| FE g8 39 Hﬁmmwmmmﬁm%lmam%wsﬁaagaﬁmmﬂ
mmaﬁrmﬁmmmm%lwwmmﬂm%lmﬁmmﬁw
goar § & A et i HRTA H A gt &Y, Ifeh Toad & ST §1 AN R TalRF F TW
dF BAd Iar § W sEw N et # A guE § Ao g1 FFs h KA g A W FoEwr
¥ HA™HA F FROT FIAT 98 FA 963 gPN? T 3 901G, HT H3 ¥ T4a 1 WUT-AT 39 g1 98 I§ & TR
ST Y Grelt AT o g1 HA Grell @), d9 IR T A3 Fgd & o A S g A urelt N S =agwl 9l
Max &Y, o T queT =aF & AT §1 AT FH 787 o g A aR $ft Far w1 Far § W@ A0m| 99 T A
Wmamﬁmmﬁmlmmmmmmmwawww
waﬁlmﬁmm%mm$mmM|

39T I T YGHT AR S AT G HT 3R IAB4:
7wl I SR AR IARTH qGIA AT FA ATGH T 87
Lo H I & dcl
2.3 1 @ AR AT @rel @
3.l il & arg |
4, #F U B 3R 9 Grelr &

Correct Answer :-

o 9 T o 3R AT @relt &

18) IGIR # UF Tq ¢1 98 g AW A UG FWA FIAT ¢l & TI F g § W A Ja& T g dg W &
Todr ¢, 30 @ 39 g A ot FAEr 71 A9 od @, R AT @l @, W grea F Fg F AW G g P
AT Gl W AT 8T A @), at off g I eIl AT el 7, A TER ;N 3@AF@S Dl w1 @EEAT 37 T
IEd S| FE §E 39 T9d A9 50 79 A 9§ A HAH A aren ¥ AH @ar § @ o o, 7w sh )
mmaﬁsﬁrmﬁmﬁwmm%lwwwmmm%laﬁﬁmﬁmﬁ:
gar goar § B At St i agard IRw # Age F¢ &, qfew @aw & s 1 9 T w@nnis @
TR dF B T § W S A A e 1 IR g @ e §) ows Wl SR A @ @ v F
m?*m*mmagmmmwmaq#m#mmm-mm%la‘s’!rerﬁ
TR I3 A Gl AT T Y| AT WIell @), qF AR oF AT Fd & of A A g ar el fFw Frerw wfyw
arelt e 8Y, o F U ad g Jrar §1 AT H day a0 @ @ aoR ft Sar &1 ben & w e @« qF
aﬁﬁmaﬁam afew FO IMeleq & I O IO JAY Fard gom, FifF JH F& a F& Fedl
mﬁmlmﬁmm%mma?WWMI

3YYFA TSHA P YGHT Al & AT JT FT IR IABA:

- et e N dAOFar Fw AT & g smEdr 82
1. ffree

2. 3IRTH

3. dlelR

4. 319

Correct Answer :-



19) SR & TF 91q ¢1 98 g AW A AE FWT FIAT ¢l 6 T F g ¢ W A ga& T g, dg W &
Todr ¢, 30 @ 39 g # ot FAET B A9 od @, ’R AT @l @, W grea A g F AW G Far g
AT @A W AT o A @), at off g I eIl AT Gl 7, A TER ;Y I3@AF@S Dl F @EEAT 37 T
Igd S| FE §E 39 q9d A9 30 a9 A I§ A HAR AGA arer ¥ AH @ar § 7@ sh o, aw sf A
mﬁmaﬁaﬁtmaﬁmmmm%lwwwaﬁmm%laﬁaﬁmﬁmﬁ:
gar goar § B At St A agard IRw # Age A¢ &, afew @aw & s 1 9 T w@nnis @
TR ¥ B T § W S A A e IR g @ e §) ows Wl SR A @ @ v F
wia:ma?mwa?mmavn?wwmﬁm#mmmﬂm%la's'u'gfa:
Wmaﬁmmsﬁm;rg’rlmma,wmammlm%q#mammmmaml
arelt e BY, o # queT ad g Frar §1 AT H day a0 g @ aoR it %ar 1 ben § w Swm| q9 a7
mﬁmmam T FG Heleg @ 3N 99 TR JAN Fard gen, FifF 7 6 T F6 Feodl
maﬁﬁﬁlwaﬁmm%mm#mmml

3YYFA TCHA P YGHT Al & AT JT FT 3R IABA:
WRA- ‘AT WTell g FETEX FT FAT HY g2
1O 48 o g

2. 3GT8 Bl

3. dIelX <l ollq deldl

4. (Y NS gHee 3T

Correct Answer :-

o 3G BT

20) 99K # TF TG ¥ T§ G 3@ P U FA FAT §1 I§ T F AG § W AA 9F F7 91 g W A
Tadr 8, 30 @ 39 I1g # ot FAET 71 A9 of @, R AT @reh @, W g F Ag F AW G v 2
T WA W AT T A @), a off g T e AT @il 7, A TER Y 3AF@S Dol F @EAT 3W T
qﬁmlrﬁﬁwmsﬁ#&aﬁaaﬁmmmm%mm%waﬁa ag &t o
TN WA S AN AN B g aeT AR @ ¥l W I A9 g F 36T ¥ g Fad sl B
g gedl § & St Sl i qgaad 3R A A ¢t A, afed e @ s §1 91 & wwnlaEw w@
W qF e a1 § W g9 AAT A Aed f 3R guE & Pad 7 Tz A sk Arg A w F
Tt & HATIH F FROT FAT G FH 963 gH1? W 3H Mg HY IH3 ¥ a9 F1 -9 3997 81 98 I8 &%
TR ST A @relt 7T o g AT Wrell g, A9 ISR o | FEA o o A el gy A el fF S AR
arelt e &Y, o FT quT ad g AT §1 AT H A8 90 g @ a9R it %ar 1 ben §f w Iwm G« IF
wﬁma‘é’raaﬂm afeF FT Ielee & I a9 IER JAY Fard §om, FifF 7 FT a9 F& Feal
mﬁaﬁlmaﬁrmm%mma;WMMI

39T ACHIT T YGH AR S AT G HT 3R IA34:

- ‘gaw AR AR F ulF F ATAT & dWEF FAT GHSAT A8AT 87
1. ITSIR & a& IbR Bl Bl

2. 99T # 441 A8 o S @nfeu|

3. IR H 3TRYOT BT B



4. ISR # AS Toopl oIl gl
Correct Answer :-

o IGIR & 3THYOT BT &

21) IER #H UF 901G ¢| 96 G A A TE FH FIAT ¢ 98 T F A1G ¢ W AX gaF F1 g g W A
Todr ¢, 30 @ 39 g A ot FAET 71 A9 od @, HR 7T @l @, W gred F Fg FOIW G Far P
AT @Al W AT o A @), ar off g I eIl AT el 7, A TER N I3@AF@S Dl w1 @EEAT 37 T
IEd S| FE §E 3H T9d o9 50 9 A 9§ A HAH A qren ¥ AH @ar § @ o o, 7w sh A
aaﬁmaﬁsﬁrmaﬁaaﬁmmmm%lwwwaﬁmm%laﬁﬁmﬁmﬁ:
gar goar § B At St i agard IRe # Aqe A¢ &, afew @aw & s 1 9 T w@nnis @
TR dF B I § W A A IR g @ e §) ows wel SR oA @ @ v F
m?*m*mmﬁmma?ﬁ?wawanaﬁrm#aaﬁmtﬂm-mm%la‘s’!rerﬁ
TR I3 A Wl AT T Y| AT WIell @), qF AR oF SAHT| Fgd & of A A g ar el fFw Frerw afyw
arelt e BY, o F Ul ad g Jrar §1 AT H day 90 @ @ aoR ft Sar 1 ben & w e @9 qF
aﬁﬁmaﬁam afew FO IMelec @ I a9 IER JAY Fard gom, Fifs JH F& a F& Fedl
mﬁmlmﬁmm%mma?WWMI

3YYFA TSHA T YGHT Al & AT T FT IR IABA:
Yoe- ‘AT I AT F FAT AT §?

1. 3&14 e

2. 44 ger

3. 96K & AT
4. SiTg_ @l

Correct Answer :-

o dar ger

22) 9EIR # UF I1G ¢ 9F I1G H@ F UG FH FIAT ¢l 6 9 $T A1G § W A GaF F g, g T @
Todr 3, 3 & 39 g A ff e 71 9w of @), RN A @l @), ¥ gea F g F W g g B
AT G W AT o A @), at off g T eI AT ekt 7, A TER A 3AF@S Dl F @EEAT 37 T
Ugd S| FE §E 39 q9d 9 50 a9 A I§ A HAH AGS aren ¥ AH @ar ¥ 7w sh o, 7w sf A
mmaﬁaﬁtmaﬁmmmmélwmwmmm%laﬁaﬁmmﬁ;
gaT gercl & & $at St i qgaEd IR A Agg A€t A, qeh T @ s §1 A & Fwnlas w@
mwmm%wmmaﬁrﬁaﬁmmam%lmtamh'sﬁtaﬁrg’r?ﬂ’&ma:
m?a;nmarmma?mmaﬁ’r‘?meﬁmﬁmmm-mm%la‘su‘sﬁs
mmaﬁ;ﬂmaﬁmr;rg’rlmaﬁﬁa,aﬁ'maaﬁmm%q#mg’r?ﬁwﬁﬁwmﬂml
arelt ST B, o FT qur Sad g JTar ¥ FHA H dw7y a0 g O aoR it Yar w1 bew € w e a9 q@
mﬁma‘é’ram IfeF FO Aeg & M T9 IER JAR Fard gon, FfF g7 F& a F& g
msﬁaﬁlmfrmm%mm%mmml

39T ASHIT T GG AR & AT G HT 3R TABL:
Yeel- ‘T FT U qY B AT & & AWF FT FAT dAId 8?



1. gHTaqOT @ ST Bl
2. UHTIEI & ST &1
3. 091 @9 o 1T gl

4, 7 FX ST Bl

Correct Answer :-

o UHTTEIT B ST §l

23) T9IR # ©F g | I G NG F TE FH FA §| I§ T FT I1g § W A qa& & 71 g | &
Tadr ¢, 30 @ 39 g # ot FAET Bl A9 of @, R AT @l @, W gea F Ig F AW G @ 2
IT A W AA o A @), at off g T eI AT @relt 7, A TER A 3@AF@S Dl F @EEAT 37 T
mmlr@ﬁmmmﬂﬁaﬁzﬂwmmmm%mm%waﬁa ag &t
mﬁmaﬁaﬁzmaﬁmmmm%lwwwmmm%laﬁﬁmmﬁ:
gaT gecl & & $at Sl i qgaad IR A Aeg A€t A, qfed o @ s §1 A QX wwnlREs w@
TR A% AT 1T § W 387F AAAT A A A IR gy @ Ao g1 sws e sk dr v at v &
Tt & HAGHA F FROT FAT G FH 63 gH1? W 3H TG HY IH3 ¥ a9 F1 HU-91 397 81 98 I8 &%
TR I3 A BTl AT T Y| AT WIel B, AT AR F SATHT| F@d & of A A g A el fF Frerw e
arelt e &Y, o FT qu ad g AT &1 AT H A8y 90 g @ a9R it %ar 1 ben & w Iwm q9 IF
aﬁﬁmaﬁram afeF FO AeTeg & M d9 IER JAR Fad gon, FifF 7 F& a F& FeaT
mwaﬁlmﬁmm%mmﬁmmml

39T AGHIT T YGH AR & AT G HT IR TABA:
- %Hlt ISl A sgarad IRA F FAeg A€ A FHHT g FA T §?
1L.#HAT & W A W
2.3 @rell gl W
3. 99T} &M 316, 3cel W

4. 9TIR & HaATd 8 W

Correct Answer :-

24) SR ¥ UF I1G ¢| 9€ G A HY T FH FIAT &1 98 T FT A1G ¢ W AX gaF F7 g g | @
Tadr 8, 30 @ 39 I1q # ot FAET 71 A9 od @, R AT @reh @, W g F g F AW G v 2
AT Grelt 9T AT 8T o g, A Y TG TG AN AT Fredr §, A AR P HAF@S DAl F AFAT 3W qF
qﬁmlrﬁﬁwmmaﬁaﬁaaﬁmmmm%lmm%waﬁa ag oft o
T T T I A A ag T AT AT ¥ W g W g I ¥ g A WA sad B
g gecr § & St Sl it qgadd 3Rm A A At A, afed @ew @ s §1 91 & wmnlE w@
W qF e a1 § W 3uR AAT A Ad f IR guE § e f s e S Ard A e F
Tt & HAIH F FROT FAT G FH 63 gH1? W 3H IA1g HY IH3 ¥ a9« F1 HU-91 3997 81 98 I8 &
TR ST & @relt AT 7 g AT Wrell @Y, A9 ISR F | FEA o of H A gy A el fF S afRwl
arelt e &Y, o FT quT Y g AT §1 AT H A8 90 g @ a9R st ar 1 ben § w Iwm a9 IF



urg fAeger @@ & gH, afew TS e @ AN 99 TER JHRA Fad gom, FiF qH FO T TS FoAT
AT 38 AR ATER Y el FATHAT ¥ IHATFAT F WA A AT

3YYFA TCHA P YGHT Al & AT T FT IR JABA:
- AGF FF TER o A HT WA am §?

1.3 g A ar a &

2. 319 gt O o

3.3 o Il T Al
4. 59 AT @rell &1

Correct Answer :-

o S AT Qrell o &

25) TER # UF I1G §1 9§ G M@ A TE FH AT ¢ I8 T & A1G ¢ W A¥ gaF &1 A1g g W A
Tadr ¢, 3 @ W g A aﬁmﬁm%lmaﬁa’r IR #T @relt @, W grad F I FHW G AT B
AT A W AA T A @), aF off g T eIl AT @il 7, A TER Y 3AF@S Dl F @EEAT 3W T
qﬁmlrﬁﬁwmmaﬁaﬁaaﬁmmmm%mm%waﬁa ag &t o
TN WA S AN AN B g areT AR @ ¥l W qF A9 g F HAT ¥ g Fad sl B
gar Torer ¥ B el fr qgara 3R A Aegg A€ &dll, R e @ s ¥ 9 & FanuRE
W qF e a1 § W guR AAET A Ad f 3R guE §f Pad 7 Tz A S Arg A vw F
m‘rﬂ:mﬁ:mwagmmﬁvﬁ?wwsrqa?rm#aaﬁa:rvﬁm—mm%la‘ga‘gﬁs
TR ST A @relt AT o g AT Wrell g1, A9 ISR F | FEA o o A e gy A el fF S ARw
arelt $ieR &, o #T oue ¥ g Arar ¥l AF H @a7 6 @ At a9R 3t bew w1 hon & w wenm) a9 I¥@
wﬁma‘é’raaﬂm afeF FT Ielee & I a9 IER JAY Fard §om, FifF 7 FT a F& Foal
msﬁaﬁlmaﬁrmm%mma;WMMI

39T AGHIT T YGH AR S AT G HT 3R IA34:
RA- ISR Ha herm &1 har I Sar §72

1. 59 I @rel &

2.5 HE A e B

3.9 A H 8T T T

4, 9 AF @relr &

Correct Answer :-

o FT AT FH d&T T D

26) IR & TS I1G ¢l 96 g A HY TE FH FIAT &1 98 T FT G ¢ W X gaF F7 g g | @
Iadr 8, 3 @ 39 I1g # ot AAET 71 A7 od @, R AT @reh @, W g F Ag F AW G v B
AT Gl W AT 8T A @), A off g T eI AT @l §, A TER ;N I3@AF@S Dl F @EEAT 39 a
mmlrﬁﬁwmmaﬁmmaﬁmmmm?mm%wsﬁa ag ot o
T T TN I A P ag AT AT AT ¥ W g @ g 1 IR ¥ g A WA sad B



gaT gecl & & $at Sl i qgaad IR A Aeg A€t A, qfed o @ s §1 9 X wwnlREs w@
TR A% AT 1T § W 387@ AAAT A e ;7 3R guw § Ao g1 sFs e sk Arar at v &
Tt & HAGHA F FROT FAT G FH 963 gH1? W 3H Mg A IH3 ¥ a9 F1 HU-91 397 81 98 I8 &%
TR I3 A BTl FAeT F Y| AT WIel B, AT AR F AT F@d & of A A g A el fH Frerw e
arelt e &Y, o FT qu ad g 1T §1 AT H da7 90 g @ a9R it %ar 1 ben § w Swm G« IF
aﬁﬁmaﬁram afeF FO AeTeg & M d9 IER JAR Fad gon, FifF 7 F& a F& FoaT
mwaﬁlmﬁmm%mmﬁmmml

39T AGHIT T YGH AR & AT G HT IR IA3L:
WeA- SR & TG, HT HAT Fa JfAF Torar 82
1. 39 78 3R 7 @rell 8 W

2. 9<dT T S W

3.96IR & FATd g W
4. 7 T 3R A @rel 89 W

Correct Answer :-

o 3T Y 3T AT @l g9 W

27) SR & TS 91G g1 9¢ SAIG M@ A TE FH FIAT &1 98 T F1 G ¢ W IAX gaF F7 g g | @
TadT 8§, 3 @ 39 I # ot AAET 71 A7 of @, R AT @reh @, W g F Ag F AW G v B
AT @Al W AT 80 A g, ar off g I eIl AT @l §, A TEAR ;Y I3@AF@S Dl w1 @EAT 39 a
mmlrﬁﬁwmmaﬁmmaﬁmmmm?mm%waﬁa ag ot o
T T TN I A P ag T AT AT ¥ W g @ g 1 IR ¥ g A ward sad B
gar geer § & $t Sl it qgaad 3w A Aeg Adt A, afed @aw @ s ¥ 91 & wmnfw w@
mﬂmﬁwm%wmaﬁaﬂmaﬁrﬁ—aaﬁmmé‘rm%lm%&m“rataﬁrg’ra’r%%ma:
m‘r#m%wwnmmﬁ?ﬁ?wwmﬁm#wﬁmvﬁm—mm%lars'ugﬁ;
TR I3 A Gl FeT F Y| AT WIell @), qF AR o SAHT| Fg § of A S g ar urelt fFw Frerw afyw
arelt e BY, o F U ad g Frar §1 AT H dgy 70 @ @ aoR i v 1 ben  w o) a9 q@
mﬁmaﬁam afew FT Ieleq @ I a9 IER JAY Fard gom, FifF 7 F& a F& Fedl
mwmlmaﬁrmWﬂm%mm$mm3ﬂm

39T AGHIT Y YGHT AR S AT G FT 3 I3
Y- AR Y el Fardar Far 872

1. 3TIIhdT & FHAI PTH ITAT

2. 3T HA GA BT
3. 31T W TG, el
4, TTRY AT HLT

Correct Answer :-

o TAIHAT & THI BIH T



28) IER # UF g ¢l T¢ SIg IH@ HY T FH FIAT &1 98 T FT g ¢ W X gaF F1 g g | @
Tadr 8, 30 @ 39 I1g # ot AAET 71 A9 od @, R AT @reh @, W g F Ag F AW G v g
AT Grelt 9T A 8T o g, A Y TG T ACIN| AT Fredr B, A AR P HAF@S DAl F AFAT 3H qF
qﬁmlrﬁﬁwmmaﬁaﬁaaﬁmmmm%lmm%waﬁa ag oft o
T T T I A P ag T AT AT ¥ W g wE g IR ¥ g A ward sad B
gar gedr § & St Sl it qgadd 3Rm A A At A, afed @ed @ s §1 91 & wmnlRE w@
W qF e a1 § W 3R AAT A Ad fr IR guE § e f Iz A S Arg A v F
Tt & HATIH F FROT FAT G FH 63 gH1? W 3H Mg A IH3 ¥ a9« F1 HU-91 3997 81 98 I8 &
TR ST & @relt AT 7 g AT Wrelt g, A9 ISR F | FEA o of A A gy A el fF S afRw
arelt e &Y, o FT quT Y g FArar §1 AT H A8 90 g @ a9R st ar 1 ben § w Swm a9 IF
aﬁﬁmaﬁam afew FT Ielee @ I a9 IO JAY Fard §om, FifF 7 F& a F& Feal
mwmlmaﬁmm%mma:mmamﬂ

39T AGHIT T YGHT AR S AT G HT 3R IAB4:
TRA- d9R & g § T9 FT HU-AT 3 FlA-a1 2
1.99 7 & d9 IR o ST

2. #AA @rell & dd IR o SATelr

3. fopdly o TRUTA A IR & ST

4. S Grell @ dd T ST

Correct Answer :-

o AT Glell & d9 deR o ST

29) TER # UF G, ¢| 96 g M@ A TE FH FIAT ¢ 98 TT F A1G ¢ W AX gaF F1 g g W A
TJadr ¢, 30 @ 39 Sg # ot FAEr 71 A9 od @, R AT @l @, W gred F F1g FOIW G g P
AT @Al W AT 8T A @), ar off g I el AT Gl 7, A TER N I3@AF@S Dl w1 @EEAT 37 T
IEd S| FE §E 39 T9d o9 50 9 A 9§ A HAH A aren ¥ AH @ar § @ o o, 7w sh A
mmaﬁsﬁrmﬁmﬁwmm%lwwwmmm%laﬁﬁmﬁmﬁ:
gar gorar § B At St i agarad IRw A Aqe A¢ &, qfew @aw & s 1 9 T w@nnis @
TR dF B T § W A 1 A 1 IR g @ e §) ows Wl SR A @ @ v F
m?*m*mmagmmmwmaq#m#mmm-mm%la‘s’!rerﬁ
TR I3 A Gl AT T Y| AT WIell g, qF AR oF AT Fgd & of A A g A el fF Frerw wfyw
arelt e BY, o F U ad g Frar §1 AT H day a0 @ @ aoR ft Far 1 ben & w e @9 qF
aﬁﬁmaﬁam afew FO IMelec & I O IO JAY Fard gom, FifF JH F& a0 F& Fedl
mﬁmlmﬁmm%mma?WWMI

3YYFA TSHA P YGHT Al & AT JeT FT IR IABA:
WRA- IR JAN Fard 41 g9m?

1. i A S DB S|

2. IR A 38 HeAT oA G|

3. FifR JFERT FA Serd A€ @l

4, FITP JFERT S @rell &l Sreaf|

Correct Answer :-



. P JH 3§ Fodl AN |

30) R # UF G ¢l TF TG NG A g FH AT ¢1 98 T FT A1g ¢ W AX gaF F7 g g W @
Todr ¢, 30 @ 39 g H ot FAET B A9 od @, R AT @l @, W grea F g F AW G Far g
AT @A W AT o A @), at off g I eIl AT Gl 7, A TER A 3@AF@S Dl F @EEAT 37 T
Igd S| FE §E 39 qFd A9 30 a9 A I§ A HAH AGA arer ¥ AH @ar § 7w s o, 7w sh A
ammaﬁaﬁtmwmmmm%lwwwaﬁmm%laﬁaﬁmﬁmﬁ;
gar goar § B Bl St f agard IRe # Aee A¢ &, afew @aw & s 1 9 R w@nnis @
TR dF B T § W S A A e IR g @ e §) ows Wl SR A @ @ v F
w?ﬂ:m#mwa?mmavn?wwmﬁm#mmmﬂm%la's'u'gfa:
Wmaﬁmmsﬁm;rg’rlmma,wmammlm%q#mammmmaml
arelt e BY, o F U ad g Jrar ¥ AT H day 90 g @ aoR it %ar 1 ben & w e q9 a7
mﬁma‘@ram IfeF FO Adeg & M d9 TER JAX Fad gon, FfF g7 F& a Fo g
maﬁﬁﬁlwaﬁmm%mm#mmml

3YYFA TCHA Y YGHT Al & AT YT FT 3R IABA:
- TG H FAH FAA W FAT Il T §?

1. 96k # ST &1 @rfen|

2. %t =l FFeal gl 8

3. %5 S TR A hr AL

4. 519 ¥ 09 7151 B

Correct Answer :-

o %l det RpEr A HT AR

Topic:- Social Science (SSC)

1) FERA stands for ./ BRT &1 quf &Y gl
1. Fraud Enforcement and Regulation Act / MEIE yad«a 3R _RRgda afREgs

2. Food and Environment Research Administration / @ 3R GATaROT HFHUTT TG
3. Federal Emergency Relief Agency / %eel Saoral Rellth TordT
4. Foreign Exchange Regulation Act / fageit #g1 fafagaa rafaas

Correct Answer :-

« Foreign Exchange Regulation Act / a2 g1 Rfazsa sfafags

2) “Teaching History, Geography, Civics and Economics, etc. as separate subjects - only imparts
miscellaneous and unrelated information”, was said by:-



/ "sfaer, e, ArRe 2 3R rfiRe onfe #Y sranT-sren fawat & wu # e daa fafay ik
ST BT e Far 8", e gRT et T A -

1. Secondary Education Commission / HICI S fAGTT AT
2. NCF 2005 / UeHIT®H 2005
3. NPE 1986 / TUIS 1986

4. Kothari Commission / @SRRI 3T

Correct Answer :-
« Secondary Education Commission / #TCIfHe eI 3marer

3) A set of interrelated statements elaborating a learning material being taught is known as the skill
of:

/ TeTd 9 arelt Rigror ATl F fawga #1381 AR Hafta Hyl @1 Th Qe A $T SIRe deard &
1. Explaining / UfqUTeH a1 RSAT AT

2. Demonstrating / U&= &3 I

3. Questioning / U & T

4. Lecturing / <I1&gT

Correct Answer :-

« Explaining / UfduTe A1 SARSAT AT

4) Which following is the correct statement? / frafafead 9 I AT PUYA H‘bpf %?

i. Akbar founded his own religion known as ‘Din-i-ilahi’. / 3/®aR 3 “§H-T-3aEl” & 79  3uT g
i feani

ii. Akbar defeated Rana Pratap in the Battle of Haldighati in the year 1576. / 3{®&a% 3 94 1576 #
ISl & g W UM WATY Hi g

iii. Tansen was the greatest musician of Akbar’s court. / AT JHER P AR & JaI HH TNdPR
O

1. iionly / &ael ii
2.ionly /&ad i
3. All are correct. / T TE &l

4. iii only / ael iii

Correct Answer :-

o All are correct. / T3 T&r §l



5) Which King was the author of Ratnawali, Nagananda, Priyadarsika?

/ B W I YeATaeH, A, RraeRier & daw 92
1. Ashoka / 3120

2. Chandragupta Il / <igad II

3. Harsha / &

4. Samudragupta / HIHGIT

Correct Answer :-

e Harsha / &¥

6) Which Article of the Constitution states that, "The state shall take steps to organize village
panchayats and endow them with such powers and authority as may be necessary to enable them to
function as units of self-government”? /

TRy & fora srgsde § $aT T4 § 3, ISy U vardl @ afRid $31 F e $eu IaTe 3R 37 Wi

gﬁmeﬁva@wmaﬁﬁvﬁaﬁwﬁw@%wﬁwaﬂﬁﬁw&mmﬁ%mw
"

1. 42

2.38

3.32

4. 40

Correct Answer :-

. 40

7) Which one is the text not written by Abul Fazl? / 98 &I 9T 34 8 Sl 3/gd Bold A Ag! foran 8?2
1. Akbar Nama / 3{&eR ATHAT

2. Ruqaat / ¥epld

3. Tabagat-i-Akbari / deehld-T-3ehe’l

4. Insha-i-Abu’l Fazl / 321-U-31gel Hofel

Correct Answer :-

» Tabaqat-i-Akbari / JdH-T-3haT



8) Which among the following is the correct location of the Tropical Forest Research Institute
(TFRI)? /

fFrafafaa d ¥ 19 a1 Swisfedda a7 S YA (TFRI) T T I 8?2
1. Bhopal / sirarer

2. Jodhpur / Siragy

3. Jabalpur / STEergR

4. Dehradun / S&ree

Correct Answer :-

« Jabalpur / Sigerqy

9) Match the following Neolithic site:

1. Daojali Hading | A. Baluchistan

2. Mundigak B_Bihar

3. Rana Ghundai | C. North kachhar hills Assam
4. Chirand D_ Afghanistan

| AFafeif@a aaramer Tael &1 FHee S

1. GBSl 85T | A SefadrT

2. HSHEMS B. fag

3. O USS C. 3cc HOR Tisar
A

4. FRig D. 3waTeredre

1. 1-B,2-C,3-D4-A
2. 1-B,2-A,3-C,4-D
3. 1-A,2-D,3-C.4-B
4. 1-C,2-D,3-A,4-B
Correct Answer :-

« 1-C2-D,3-A4-B

10) Which of the following country is not considered a rigid constitution? /
farafaf@a # & 5w g #1 vF For IR 7 Aen AT &2

1. Australia / 3ieeforr

2. Britain / fsea



3. Switzerland / feacsitels
4. USA / 3raRar

Correct Answer :-

« Britain / fgea

11) The most staggering problem in our educational system on an all India basis is: /
U YR & SATYR TR gARY fRrem yomelt & e Sif¥res dieT 3 areft ao=an 3:

1. Lack of funds / s &1 &halr

2. Lack of schools / el &1 el

3. Drop outs / 87 3m3¢

4. Stagnation / 3TeauIAT

Correct Answer :-
« Drop outs / g7 3m3¢

12) The study of the origin and development of human being and their culture is known as:

/ TS0 o1 Ity iR fasrd iR 399 Opfa & sremaa ot $gl SITdT g
1. Archaeology / QUdcd
2. Sociology / HHATSRTH

3. Anthropology / HATAARME AT =T
4. History / e

Correct Answer :-
« Anthropology / ATTGATE IT FTAATA

13) The main purpose of criterion-reference evaluation is: / ATFGS-veH eIi®T &1 &I SexT

'

1. Determination of ranking of the student / &T% & HaA/d & AGROT

2. Assessment based on predetermined objectives / @ fauiRa 32237 & 3MUR W el
3. Assessment of attainment of group performance / TIHg U T UIfT HT 3MTheled

4. Assessment of the skill performance of an individual / Tk & IRTT TGA &I 3Thold



Correct Answer :-

« Assessment based on predetermined objectives / qF UTRA 3T & 3TYR W 3Tehole

14) Classical pattern of education is called ./ e & Icpse et Fr FgT AT §
1. Trivium / §Ifaaa

2. Rhetoric / O1fecy am&

3. Quadrivium / dell-ddscd

4. Dialetic / §gIcH® dhugid

Correct Answer :-

o Trivium / &faaa

15) Who among the following is the author of ‘Politics’? / RFifaf@a & ¥ #la “gidfesa” &
ags 82

1. Rousseau / &4t
2. Plato / Toler

3. Aristotle / 3TE

4. Socrates / GhIT

Correct Answer :-

« Aristotle / 3ITE]

16) Who is known for initiating electoral reforms in India to ensure free and fair elections? /
Tadd AR frsaer gara gRARaa F@ §g RT & A GUR qE F A F AT S Jrar sar @2

1. N. Gopalaswami / T iqTerearsit

2. T. N. Seshan / &. ©e. e

3.S.Y. Quraishi / 7g. ar$.

4. M. S. Gill / T#. Ta. e

Correct Answer :-

« T.N. Seshan /&. ©a. qua



17) According to Seligman ‘Geography’ is included in: / 3fmde & @R ‘s ey &
anfaer &

1. Semi social science / 374 FATG fa=TeT

2. Social studies / HIATSG 3JCTTA

3. Pure social science / 3[g HTHATISh fa=iret

4. Science with social implication / HTHITS® dIcUd gob T

Correct Answer :-

« Science with social implication / HHISIS dIcud Jeh fa=ir

18) The social and co-operative expression of thoughts and ideas in the class, which is concerned
as a miniature society and shared environment, this method is known as:

/ Fem # fARY 3k gwret # aenfow 3R geEt affeafEa, S vw ag @S sk wmwE
TITEROT & T # geafaq g, a8 R Fgardt &

1. Problem solving method / HHEAT FATUTA fafey

2. Project method / GRASTAT fafer

3. Socialized recitation method / ¥HSpa #f@w gfa AfY, Gagipd urs fafa
4. Discussion method / af=ar fafer

Correct Answer :-

« Socialized recitation method / HHTSIGd HIT@H T A/ HHgIpd urs fafar

19) The concept of Public Interest Litigation (PIL) was introducedby ./
Setfeet Fiferer (NIMST) HY JAUROT @R Y& A 75 AN

1. Justice Sarv Mittra Sikri / =mafd ¥d &7 Il

2. Justice P.N. Bhagwati / =maifa dt. va. serach

3. Justice H. J. Kania / =¥effd va. 3. &faam

4. Justice Sudhi Ranjan Das / =Igeffd g &1 ard

Correct Answer :-

« Justice P.N. Bhagwati / =am3effc o1, T4, #argch



20) The technique which is often used by all teachers for transacting skills, ideas, attitude and
processes among students is called as .

ol # Flerd, FEwy, tfewior it ufvamsd &1 aa-da e F AT s il Rerel qarr s #
ST aTell dhelles Y &gl ST gl

1. Activity-based teaching / TIfafafdr amenfya fRiemr
2. Projective technique / U&TdY dehellch

3. Lecturing / <arear

4, Demonstration / e

Correct Answer :-

« Demonstration / U2l

21) Which of the following is the technique of collecting all the necessary information about a
child with a view to studying and solving his deep-rooted problem? / AFfaf@a & ¥ w7 =

T T AE FATAT FT FEYTT FI 9 3T g A A e F 39F TR # 9sft maegw
JATTFR THT Fl T dhald 82

1. Experimental study / A& 3feqa=
2. Case study / ¥ €3I

3. Qualitative study / IUTTcHSD T

4. Quasi experimental study / 3 JIRTcHA® 3T

Correct Answer :-

« Case study / &g ¥

22) Which among the following is not a function of evaluation? / A=faf@a & & &l @
AT HT TF FIA A6 62

1. It helps to study the entry behaviour of the children in all aspects. / Tg HT Ugcf3il & a==i & gdar
TIIER BT ICYTT I A FAE HLdT o

2. It helps to undertake special instructional programs. / T& IGeMcHD HIRIHH Y& A H Haa
T &

3. It helps to assess different educational practices. / I e Af&Tw 79ITET BT 3HTholed T A
AGG AT &

4. Tt does not provide for individualization of instruction. / I& ¢ & dIfharor & foT Uer g
BT T



Correct Answer :-

« It does not provide for individualization of instruction. / T TG & dIThaoT & TIT Ut =&r
T &

23) Which among the following models of teaching belongs to Social Interaction Family?
/ Rreror & RFafaf@a yast # ¥ sl g ggnfar oRar ¥ g9t §2

1. Concept attainment model / HheuaT WA Ui

2. Jurisprudential model / =TT & YfdHAT

3. Non-directive teaching model / 3fa&RIT fretor ufden=

4. Advanced organizer model / 3ed 3TTSld UTdaATT

Correct Answer :-

« Jurisprudential model / =1 & UfdaT

24) What is the full form of SEZ? / @< (SEZ) #T qof &7 &7 5?
1. Special Education Zone / faw U&T &1 (¥ALAST ThAA FAlA)

2. Special Economic Zone / faw 3nfde &1F (FUrel shiA&e i)
3. Special Equity Zone / Taw sfdadl &1 (¥aerar sfdadt i)

4. Special Equal Zone / TIY FATA &7 (TAAA STl Slied)

Correct Answer :-

o Special Economic Zone / Taw 3Mide &3 (TUAS SHIAIHD i)

25) Under whose rule Turkan-i-Chihalgani was introduced?
| TRIA-T-AgeraTed fhasd AawT F dgad q& H 75 4

1. Tltutmish / Seqaferr
2. Razia Sultan / IS Ged™

3. Balban / ddfdd

4. Qutub ud din / T 3¢ &

Correct Answer :-

o Iltutmish / Seqafi=r



26) Which Vijayanagar ruler adopted the title of 'Gajabetekara (the elephant hunter)'?
| fFE RSIeIR A E® o ‘IeeeH (B11AAT 1 R’ fr 3ufer gror Ai?

1. Bukka / garpt

2. DevaRayal / ¢a a1

3.DevaRayall / ¢a I II

4. Krishna Dev Raya / t0T &a I

Correct Answer :-
o DevaRayall / ¢a I II

27) Which of the following is found in the earth’s core? / et & & gedt & FR (FdT #mT) F FA7 YR
SATaT 82

1. Magnesium / 37T
2. Ferrous / 3d

3. Silica / T&feremr
4. Aluminum / Te[Ifaa

Correct Answer :-
 Ferrous / %Hyd

28) Which of the following paradigm followed the Quantitative revolution in the evolution of
geographical though? /

fafaf@a # @ e afowe a stnfes Rew § amEcas Fifa # 1 segaor Far?
1. Regional Analysis / &3 fagiwor
2. Areal differentiation / &3 fAHEAIoT

3. Post Modernism / 3t 3Tfelehaireng
4, Exploration and description / 37=dyor 3R fazor

Correct Answer :-

+ Post Modernism / 3R 3MYfAehdrarg

29) Which ruler was the first to defeat Muhammad Ghori?



| AEFAG MY A WIfSd FIA qTell Ggoll ATHF Hled A2
1. Prithviraj Chauhan Il / g2dRTST digd Jdig

2. Prithviraj Chauhan I / g2dRTsT diga fgd

3. Prithviraj Chauhan I / G2dRTST @lere [

4, Jaichand / Jddeq

Correct Answer :-
e Jaichand / TG

30) Which ruler introduced the price reforms in the market? / & @& & =R & AT gﬂm $r
YT $1?

1. Allauddin Khilji / 3rem3ea f&ersi
2. Firoz Shah Tughlaq / ST QT8 Jores
3. Mohammad Bin Tughlaq / #leFAG e arele

4, Balban / &oldd

Correct Answer :-

« Allauddin Khilji / 3m8a st

31) Which animal is engraved on Harappan seals? / g3 & gl W @ Serax #Y 3chot fwam
2?

1. Goat / T

2. Horse / €a1

3. Unicorn/ F&R9 (Ffiehier)

4, Cow / M

Correct Answer :-

o Unicorn/ {3 (JfAdre)

32) Which Constitutional Amendment introduced Right to Education as a Fundamental Right? /
e wdufas a@due o RNan & 3eER F AffF 3VaER F 7 & Jor Fre
1. ggth

2. g4th



3. 86th

4, 815

Correct Answer :-

33) Which text is not written by Kalidasa? / #ifagra o ®ia @1 Iy gt fo@m g2

1. Meghadutam / Hegd
2. Malvikagnimitram / HTCITdepTIATHTH

3. Mrichchakatika / FTodhiChA

4, Shakuntalam / ‘\’W

Correct Answer :-

* Mrichchakatika / Feoehiedha

34) NABARD was introducedin ./ @1 & ¥Tyfad fFam a@m an
1. 1972
2. 1982
3. 1988

4. 1990

Correct Answer :-

35)  Government has the power to legislate on ‘residuary’ subjects. /
WEHR & 9 '3afrse’ Fwal | Fea ao = # afFa g

1. Local / ¥4

2. Unitary / T

3. Union / &9

4, State / T

Correct Answer :-

e Union /@9



36) s an institutional mechanism to provide representation to the states of India. /
_ UF G dF § 9 4Rd F UsAl # yfafafled ve w3t gl

1. Rajya Sabha / qog@HT

2. State Legislative Assembly / TsT fauraaam

3. State Legislative Council / 75T faura alug

4, Vidhan Sabha / faruraaar

Correct Answer :-
 Rajya Sabha / q5g@HT

37) is a process by which the government sells their assets and hand over the management to
the private sector. /

U yRRn § OEE @R WER Hue a9l dudt § s yeue & @sh ax @ d@iw & 2
1. Privatisation / fasfrenyor

2. Liberalisation / 3&Ieor

3. Public-private partnership / st st smafiery

4, Disinvestment / fafaaer

Correct Answer :-

« Disinvestment / fafaasr

38) means the price of product increases but the value of the product decreases. /_
F Adae ¢ F 3cug A AAaq 9¢ 1t § AfdaT 3cag F1 qew e I1am B

1. Corruption / YFTHR

2. Inflation / FgrEHITA
3. Hoarding / STATERY

4. Minimum Support Price / ¥Jddd TAIT T

Correct Answer :-

 Inflation / Eﬂa'l'\':tﬁﬁ



39) Vedas are also known as : / 3al #Y Ig sft ®gr T &:
1. Smriti / &Ffa

2. Nirukta / %

3. Shruti / #f@

4. Kalpa / @%eU

Correct Answer :-

« Shruti / Hfd

40) Who among the following is known as “the Architect of Indian Planning”? /
farafaf@a & @ @ “oRdiT Ao F TRgER” F T F T S §?

1. Prasanta Chandra Mahalanobis / 9Rled deg HeTATaH

2.V V Giri /dr & &

3. VKR VRao/d & 3R df 3@

4, R C Desai / 3R & 2ars

Correct Answer :-

o Prasanta Chandra Mahalanobis / URled deg HeTelAad

41) Who delivered the famous speech "Tryst with Destiny" to the Indian Constituent Assembly? /
R dfue @ & aflgy svor "Ree R 3Re e R
1. K. M. Munshi / &.T#. N

2. Somnath Lahiri / HAATYT oATfesT

3. Jawaharlal Nehru / STdIel Tl dAg®

4. Sarojini Naidu / SIS ATAZ

Correct Answer :-

« Jawaharlal Nehru / STdTeX ol dAg®

42) Who was the first Governor General of India? / HRd & 9gd e AT HiT A?
1. Warren Hastings / aRel gicsd

2. William Bentinck / faferrer dfes



3. Robert Clive / IaC Folsd
4, Lord Cornwallis / &S iariord

Correct Answer :-

o Warren Hastings / dR<l gi¥csd

43) Who had started the magazine Jugantar? / Zaea (SATaR) uf¥ar $T gqeana fraar @ di?
1. Veer Sarvarkar / d HTahT

2. Bhagat Singh / #91d &%

3. B G Tilak / & St fderes

4. Aurobindo Ghosh / 3Rfde oW

Correct Answer :-

« Aurobindo Ghosh / 3Rfdg @iy

44) Who supplies coins in India? / 9Ra & R i 3mqfd Fi Far 2
1. Security Exchange Board of India / iR ufdefa ffasa as

2. Commerce and Industry Ministry / aTfoTeg 3R 3TWT #ATeT

3. Ministry of Finance / faa #ater

4, Reserve Bank of India / R Rea &

Correct Answer :-
« Ministry of Finance / faa #3rer

45) The transfer of ownership, property or business from the government to the private sector is termed
as i

THR T s a7 & Farfice, 99y a1 cgau™r & g&diaor & HgT 1T ¢l
1. Nationalization / JTSIgehUT

2. Globalization / d4ffergor
3. Privatisation / fasfieryor
4. Liberalization / 3&RIepI0T

Correct Answer :-



« Privatisation / fasiertor

46) The correct concept of evaluation reflects in: / W A TE 3gurem AT # gRe@a e
e -

1. Diagnostic Evaluation + Formative Evaluation / &I Jedid + TaTcS Hedidh-

2. Summation Evaluation + Measurement / JMcHD Hedlched + HIT
3. Measurement + Judgement / T + Aoy

4. Tests + Examinations / UI&TUT + UJI&TT

Correct Answer :-
« Measurement + Judgement / AT + A0

47) The Social Science which draws its information from both natural sciences and social sciences is:
| wrnforE faaer s wgfas e i anfoe e det @ el St wTea Fwar @

1. Geography / 33Tl

2. Civics / dAWIRG A&

3. History / sfasm
4. Political Science / IS fagm=

Correct Answer :-

» Geography / 33Tl

48) The term “laissez-faire” means____ ./ g “dW@ " (3r9er AfA) &1 aref § I
1. Less government intervention / & TIHNT &EI&TT

2. Less market intervention / &3 IR §&d&1T

3. More market intervention / 37f9& ITaIR g&dalq

4. More government intervention / 318 EIPRT TEI&T

Correct Answer :-

» Less government intervention / &a TIPRT TEdaT

49) The Great Bath structure was discovered in which city of Indus Valley Civilization? / TEEARIRIR
(ﬁﬁnarmmw)a?rmﬁgsnfrmwa:ﬁmamﬁgaﬁ?



1. Mohenjodaro / AgAsiles!

2. Lothal / olrer
3. Harappa / &stdl

4. Dholavira / STeTdRT

Correct Answer :-

» Mohenjodaro / AgASlesr

50) Seasonal unemployment is a characteristic feature of ./ g SRSy 7
fadtwar 21

1. Agriculture / ¥

2. Service / &dr

3. Manufacturing / fafaafor
4, Industry / 33197

Correct Answer :-

« Agriculture / HT¥

51) When was the Constitution of India adopted? / HRd & WRAYTA HI Hd HYTAT IAT 41?2
1. 26™ January, 1951 / 26 SteTady, 1951

2. 26" January, 1950 / 26 STerd, 1950

3. 26" November, 1949 / 26 a¥day, 1949

4. 26" November, 1948 / 26 FdeR, 1948

Correct Answer :-

. 26 November, 1949 / 26 ddax,1949

52) Green Belt Movement is an environmental non-governmental organization. Focused on
afforestation. Who initiated this movement? /

W Ao 3G TP Ugiaruiy IR-TRPR! WIS 21 ) P aNH01 W) Higd 21 59 srigie 31
o1 foas 12

1. Shirin Ebadi / R« wardy

2. Wangari Mathai / Tomy #1218



3. Helena Norberg / &eidr dARadT

4. Winona La Duke / f&iar & 3

Correct Answer :-

« Wangari Mathai / domr #1$

53) Which ruler was described by Sir Huge Rose as ‘the best and bravest military leader of the
rebel’?

| wX &g U1 qarr frw a1 'R F1 #dAvs AR wad qeigy A Aar' F w0 # afvia e ar?
1. Begum Hazrat Mahal / 99T &oRd dAgd

2. Rani Laxmi Bai / 3t @1gsft ars

3. Bahadur Shah Zafar / IEIgY QAT ST

4. Kunwar Singh 7 $ax &g

Correct Answer :-

« Rani Laxmi Bai / T @ga ar$

54) Cape Agulhas makes the dividing point between which of the two oceans? /
FT Tew et A FEERT F @i Reree g q@rar 82

1. The Arctic Ocean and the Atlantic Ocean / 3hfed L IRSIRIEY 3R 3[cdifed HeTR

2. The Atlantic Ocean and the Indian Ocean / 3fcdifed HERITR 3R fig AR

3. The Pacific Ocean and the Atlantic Ocean / URITd HETIFR 3R 3fcdifcd HERINR

4. The Indian Ocean and the Pacific Ocean / &< HERITR 3R Ud AERITR

Correct Answer :-

o The Atlantic Ocean and the Indian Ocean / 3cdified HeTR 3R f?&' AR

55) How long did the Challenger Expedition last? / deeR 3ffae fraa a#a a& gar?
1. Four years / 9] a&

2. Five years / o/@ a§

3. 18 months / 18 #Fg=

4. two years / al ay



Correct Answer :-
« Four years / ar a¥

56) Which is the largest fresh water lake in the world by volume of water?/
o A F FEE F g A e 99 aror it H s Fla @ 32

1. Lake Michigan / TR 3frer

2. Lake Malawi / &ATermdY 3fter

3. Lake Baikal / d@rer siier

4, Great Bear Lake / J€ IR 3l

Correct Answer :-

 Lake Baikal / d&ret et

57) In which of the following seasons, brief squalls and thunderstorms known as Kalbaisakhi, or
Nor’westers, often occur? / Fafaf@a & & 5w #Alwd &, FradarE a1 AEFT § T § I I
g BI qwle A 3, IR el e 82

1. Early winter / &3l |féat
2. Early summer / &3t arferat &
3. Rainy Season / aTRer & #laar &
4, Late winter / arg &t aféai &

Correct Answer :-

« Early winter / &3 afé&ai #

58) Which among the following country is also known as the last remnant of the former Papal
States? [

frrafaf@a & & e 3o #f qF 99 Feeq & 3ifaw sy & w0 & oft e srar 82
1. San Marino / &9 A=y

2. Vatican City / dfewa Rt

3. Monaco / #1AThr

4, Malta / AtecT



Correct Answer :-

« Vatican City / afesha f&Er

59) Which among the following country is considered to be the Origin of Coffee Plant? /
fArafaf@a & ¥ BFw o & F F S F1 T A= Sar §?

1. Vietnam / faadamst
2. Peru /0%

3. Ethiopia / sfafo=r
4, Brazil / sitsiter

Correct Answer :-

« Ethiopia / sfaatan

60) Who helped in taking transformative steps in India’s foreign policy and persisted in making
peace with Pakistan emphasizing that a state can choose its friends but not its neighbors? /

fFasr RA A1 Ager Y A IREdT R Feq 3o« § Fegrgar A 3 afeeas F @y aify a9w @
W SR & §T FgT & TF TsT 39 el A I Tohell § Afhed A9 TRIRAAT 1 7€i?

1. V.P. Singh / &n.d%. Rig

2. LK. Gujral / 311$.3%.3[eRTe

3. L.LK.Advani / Tal. &. 3saroft

4. Atal Bihari Vajpayee / 3icel gl aresradt
Correct Answer :-

« Atal Bihari Vajpayee / 37cel Tagrl areraiy



